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1. Prepare a chart which shows the
difference between Normative Science and
Positive Science
Normative Science Positive Science
1 1
2 2
3 3

Score: 3

2. Identify the proposition given below and
represent it in the diagram of opposition.
a. Some men are beautiful
b. All men are mortal
c. No men are animals
d. Some animals are not vertebrates

Score:5

3. Find out the contraposition of the given
proposition (full & partial)
a. All creatures are mortal
b. All men are mortal

Score:3

4. Find out the minor, major and middle term
of the following syllogism

All medicinal things are useful
All herbs are medicinal
There fore All herbs are useful.

Scorc:2

5. Complete the following table
Induction Deduction
a. …………… All flowers are beautiful
b. …………… …………………....
c. …………… ……………………
d..…………… ……………………
Therefore All flowers are beautiful

Score:5

6. ‘Increase of poverty in society shows a
corresponding increase in crime’. Identify
Mills method inherent in this example.

Score:2

1. t\m¿-am-‰o-hv k-b≥kv, t]m-ko-‰o-hv k-b≥-kv

C-h X-Ωn-ep-≈ hy-Xym-kw Im-Wn-°p-∂ Nm¿-́ v

X-øm-dm-°p-I.

Normative Science Positive Science
1 1
2 2
3 3

Score: 3

2. Xm-sg sIm-Sp-Øn-cn-°p-∂ s{]m-∏-kn-j≥ G-

Xm-sW-∂v Xn-cn-®-dn-™v Ah-sb U-b{Kw

Hm v̂ Hm-∏kn-j-s‚ k-lm-b-tØm-sS Im-Wn-

°pI?
a. Some men are beautiful
b. All men are mortal
c. No men are animals
d. Some animals are not vertebrates

Score:5

3. X∂n-cn-°p-∂ s{]m-∏-knj-s‚ tIm -̈{Sm-s]m-

kn-j≥ I-s≠-Øp-I.

a. All creatures are mortal
b. All men are mortal

Score:3

4. Xm-sg X-∂n-cn-°p-∂ kn-t√m-Pn-k-Øn-s‚

ssa\¿, taP¿, an-Un¬ F∂n-h I-s≠-Øp-I.

     All medicinal things are useful
All herbs are medicinal
There fore All herbs are useful.

Scorc:2

5. X-∂n-cn-°p-∂ ]´n-I ]q¿-Øn-bm-°p-I.

Induction Deduction
a. …………… All flowers are beautiful
b. …………… …………………
c. …………… ……………………
d..…………... ……………………
Therefore All flowers are beautiful

Score:5

6. h¿-≤n-®p-h-cp-∂ Zm-cn-{Zyw k-aq-l-Øn¬ A-

{I-a-hm-k-\ h-f¿-Øpw. C-hn-sS an√n-s‚ G-

Xp -coXnbm-Wv D-]-tbm-Kn-®n-cn-°p-∂Xv.

Score:2



7. Change the following arguments in to the
symbolic logic form and examine its
validity using truth table.
If Mohan works hard, then he will pass
Mohan works hard
Therefore Mohan will pass.

Score 4

8. Prepare a chart which shows the
difference between Logic and Ethics.
Logic Ethics
1 1
2 2

Score 2

9. Find out to which category the following
proposition belongs: ‘No men are perfect’

a) Universal Affirmative
b) Universal Negative
c) Particular Affirmative
d) Particular Negative

Score 1

10. The symbol for disjunction in symbolic
logic is

a) Dot (.) b) Wedge (v)
c) Tilde (~) d) Horse shoe (⊃)

Score 1

11. Power tends to corrupt.
Knowledge is power :
∴  Knowledge tends to corrupt.
Is there any fallacy in the given Syllogism?
If so, name it.

Score 2

12. PM
SM

     ∴SP
The above stated form is in second

figure. Give a concrete example for this
figure.

Score 2

7. Xm-sg sIm-Sp-Øn-cn-°p-∂ B¿-Kyp-sa‚ vv-kv

knw-t_m-fn-Iv tem-Pnv-°n-s‚ t^m-an-te-°v am-

‰p-I. {Sqv-Øv tS-_n-fn-s‚ k-lm-b-tØm-sS A-

Xn-s‚ h-en-Un-‰n ]cn-tim-[n-°p-I.

If Mohan works hard, then he will pass
Mohan works hard
Therefore Mohan will pass.

Score 4

8. tem-Pn-°n-s‚-bpw F-Øn-Iv-kn-s‚bpw hy-Xym-

kw Im-Wn-°p-∂ H-cp Nm¿-́ v X-øm-dm-°p-I.

Logic Ethics
1 1
2 2

Score 2

9 "No men are perfect" F-∂ s{]m-∏-kn-j≥

G-Xv hn-̀ m-K-Øn¬ Dƒ-s∏-Sp-∂p F-∂v I-≠p-

]n-Sn-°p-I.

a) Universal Affirmative
b) Universal Negative
c) Particular Affirmative
d) Particular Negative

Score 1

10. knw-t_m-fn-Iv tem-Pn-°n¬ Un-kv-Pw-Kvj-\v D-

]-tbm-Kn-°p-∂ Nn-”w G-XmWv?
a) Dot (.) b) Wedge (v)
c) Tilde (~) d) Horse shoe (⊃)

Score 1

11. Power tends to corrupt.
Knowledge is power :
∴  Knowledge tends to corrupt.
X-∂n-cn-°p-∂ kn-tem-Pn-k-Øn¬ F-s¥-

¶nepw fallacy D-t≠m? D-s≠-¶n¬ A-Xn-s‚

t]-sc-gp-Xp-I.

Score 2

12. PM
   SM
∴SP
ap-I-fn¬ sIm-Sp-Øn-cn-°p∂-Xv sk-°‚ v ^n-

K¿ B-Wv. C-Xn-s‚ {]-I-Sam-b D-Zm-lc-Ww

F-gp-Xp-I.

Score 2



13. Some teachers are wise.
Some men are wise.
∴ Some men are teachers.
Is the above syllogism invalid? If so, why?

Score 3

14. If M and N are true, and O, is false,
determine the truth-values of the
following.
a) M.N.
b) M ⊃ O

Score 4

15. Comment on the uses of symbols in
symbolic logic.

Score 4

16. State the limitation of the method of
Authority.

Score 3

17. State the contradictory of ‘Some students
are honest’.
a) All students are honest
b) No students are honest
c) Some students are not honest

Score 1

18. …………….. is an important book on
symbolic logic
a) Cartesian Meditations
b) Principia Mathematica
c) Philosophical Investigations

Score 1

19. ‘All fruits in the basket are ripe’ is an
example of …………
a) Perfect induction
b) Induction by simple enumeration
c) Colligation of facts

Score 1

13. Some teachers are wise.
Some men are wise.
∴ Some men are teachers.
X-∂n-cn-°p-∂ kn-t√m-Pn-kw C≥-hm-en-Uv B-

tWm? B-sW-¶n¬ F¥p-sIm≠v?
Score 3

14. M,N. F∂n-h {Sq Dw. O ^mƒkpw B-sW-

¶n¬, Xm-sg sIm-Sp-Øn-́ pv-≈-h-bp-sS {Sq-Øv

hmeyq I-≠p-]n-Sn-°pI.

a) M.N.
b) M ⊃ O

Score 4

15. knw-t_m-fn-Iv tem-Pn-°n¬ Nn-”-ß-fp-sS D-

]-tbm-K-sØ-°p-dn-®v A-̀ n-{]m-b-s∏-Sp-I.

Score 4

16. sa-tØUv Hm-̂ v A-tYm-dn-‰n-bp-sS ]-cn-an-Xn-

Iƒ F-s¥√m-amWv.

Score 3

17. ‘Some students are honest’. F-∂ hm-Iy-

Øn-s‚ tIm -̈{S-Un-Iv‰-dn s{]m-∏-kn-j≥ G-

XmWv?

a) All students are honest
b) No students are honest
c) Some students are not honest

Score 1

18. ......................... knw-t_m-fn-Iv tem-Pn-°n-s‚

H-cp {][m-\ ]p-kv-X-I-am-Ip∂p.
a) Cartesian Meditations
b) Principia Mathematica
c) Philosophical Investigations

Score 1

19. ‘All fruits in the basket are ripe’
{]-kvXp-X s{]m-∏-kn-j≥ .................. \v D-Zm-

l-c-W-amWv.

a) Perfect induction
b) Induction by simple enumeration
c) Colligation of facts

Score 1



20. If the proposition,
‘All students are wise’ is true, infer the
truth-values of it’s contrary and subaltern
propositions.

Score 3

21. The method of Tenacity gives importance
to one’s own belief. Prove it with an
example.

Score 4

22. ‘Fever is caused by virus’. Identify the
type of hypothesis used in this statement.
Justify your answer

Score 4

23. “Scientific method radically differ from
other methods’’ Comment on its.

Score 5

24. ABC is followed by PQR.
ADE is followed by PST
AFG is followed by PXY.
∴A is the cause as effect of P.
To which experimental method of J.S. Mill,
the above symbolic expression correspo-
nds do? State the merits and limitations
of the method.

Score 5

25. Explain the idea of Truth function in
symbolic logic. Give the truth tables of
Negation (Contradictory function) and
Disjunction (disjunctive function).

Score 10

20. ‘All students are wise’
F-∂ s{]m-∏-kn-j≥ {Sq B-sW-¶n¬ A-

Xns‚ Contrary, subaltern s{]m-∏-knj-s‚

{Sq-Øv hmeyp F-¥m-bn-cn-°pw?
Score 3

21. sa-tØUv Hm-̂ v sS-\m-kn-‰n H-cm-fp-sS hn-izm-

k-Øn¬ {]m-[m\yw sIm-Sp-°p-∂p F-∂v D-

Zm-l-c-W-k-ln-Xw F-gp-Xp-I.

Score 4

22. ‘Fever is caused by virus’. Cu {]-kv-Xm-h-

\bn¬ A-S-ßn-bn-cn -°p∂-Xv G-XpXcw

hypothesis BWv?
\nßfpsS DØcw km[q-I-cn-°p-I.

Score 4

23. ""a‰p coXn-I-fn¬ \n∂p auen-I-ambn hyXym-

k-s∏-´n-cn-°p-∂-XmWv imkv{Xob coXn''.

CXn-s\-°p-dn®v A`n-{]m-b-sa-gp-Xp-I.

Score 5

24. ABC is followed by PQR.
ADE is followed by PST
AFG is followed by PXY.
∴A is the cause as effect of P.
ap-I-fn¬ sIm-Sp-Øn-cn-°p-∂ knw-t_m-fn-Iv F-

Iv-kv-{]-j≥ sP.F-kv. an√n-s‚ G-Xv F-Iv-kv-

]n-cn-sa‚¬ sa-tØ-Up-am-bn _-‘-s∏-´n-cn-

°p∂p. {]-kvXp-X sa-tØ-Un-s‚ ta-∑-Ifpw

]-cn-an-Xn-Ifpw hn-i-Zo-I-cn-°p-I.

Score 5

25. knw-t_m-fn-Iv tem-Pn-°n¬ {Sq-Øv ^w-Kv-j≥

Bi-bw hn -i -Zo -I -cn -°pI.  Negation
(Contradictory function) Disjunction
(disjunctive function) F-∂n-h-bp-sS {Sq-Øv

tS-_nƒ {]-Xn-]m-Zn-°pI.

Score 10


